Run 4472 quartetwise, Asyms0 (Raw): All
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Run 4472 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 4472 quartetwise, Asyms0 (Raw): Beam OFF
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Run 4472 quartetwise, Asyms( (Raw): Beam ON, Laser OFF
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Run 4472 quartetwise, Difts0: All
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Run 4472 quartetwise, Diffs0: Beam ON, Laser ON
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Run 4472 quartetwise, Diffs0: Beam OFF
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Run 4472 quartetwise, Diffs0: Beam ON, Laser OFF
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Run 4472 quartetwise, NegHelAccO/NSamples(: All Run 4472 quartetwise, NegHelAccO/NSamples®: Beam OFF

quartetwize_negHQ quanebwise_beamd_neghD
— Entries 85958 70— - Entries 1864
- Mean 10.76 — Mean 1.275
&O00 — Std Dev 2.081 — . Std Dev 0.1423
- 60—
5000 |— ~
— 50—
4000 :— 40 :_ J
3000 — 0
2000 — 20—
1000 — 10—
lE:I_I—JJ-I_!-Lll—l'll—-—l-._llI |I D_lllh IIII|IIII|IIII|IIIIIIIIIlIIII"_InTI—I—lllllrllll
0 2 4 6 B 10 12 14 0.4 1 1.1 1.2 1.3 1.4 1.5 1.6 1.7 1.8
MNegHelAccD/NegHelNSampleso MNegHelAccO/NegHelNSamplesO
Run 4472 quartetwise, NegHselAccl/NSamples: Beam ON, Laser ON Run 4472 quartetwise, NegHelAccl/NSamples0: Beam ON, Laser OFF
guanstwisa baami las! nagHD guanctwisa boami lasd nogHD
Z Entries 36980 B Entries 13764
2500 — Mean 12.05 1200 — Mean B8.94
[ Std Dev 0.5223 — Std Dev 0.5887
000 — 1000 —
2500 — u
[ BOO—
2000 B
— 600 —
1500 [— B
= 400 |—
1000 — B
500 2001
ID:I|IILI|IIIIJ_LIIIJ.IIIIIIIIII" I L D_llj_lll_l.IIIJ_lllll I N T I O I L1
5 5] 7 B 9 10 11 12 13 14 3 4 5 5] 7 8 9 10 11

MNegHelAccl/NegHelNSamplesd MNegHelAccO/MNegHelNSamplesD



Run 4472 quartetwise, PosHelAccO/NSamplesC: All Run 4472 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 4472 quartetwise, Sums0: All
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Run 4472 quartetwise, Sums0: Beam ON, Laser ON
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Run 4472 quartetwise, Sums0: Beam OFF
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